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INSTRUCTIONS TO CANDIDATE

1. The Question-booklet contains 100 objective type questions. The candidates must
attempt all the questions. There is no negative marking.

= g § 100 wghte mew B R ¥ apafldt @ @ avd @t s 3
T IT 7 qv of 78 B3

2. No Second Question-booklet OR Answer Sheet will be given to the candidate under
any circumstances whatsoever.
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3. The candidate within 10 minutes of the issue of Question-booklet, will check up and

ensure that it contains all the pages and no page is missing. In casc.of missing page(s),
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10.

11.

12.

The candidate will write Roll Number only on the Cover Page and on the Answer Sheet of
the Question-booklet at the places provided for the purpose and nowhere else, otherwise
the candidate will be disqualified in the Entrance Test.
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Do not write your Roil No. OR Name inside the Question-booklet.
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There shall be no erasing or overwriting in the answers given on the Answer Sheet,
in which case such answers shall be deemed as incorrect.
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Use of log tables or calculators is not permitted.
SHTTOTHE T ar T & SUEET @ SAHa TET B

No candidate will be permitted to enter the Examination Hall after the expiry
of 30 minutes from the commencement ol the Entrance Test.
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No candidate will be permitted to leave the Examination Hall until the expiry of
two hours from the commencement of the Entrance Test.
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Candidate will not bring any loose papcr, whether written or blank, inside the
Examination Hall except the Admit Card.
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SCHOOL ENTRANCE TEST, 2017

CLASS : XI
hEl : XI
MATHEMATICS
MM
Time : Two Hours | ' [ Maximum Marks : 100
F9q 7 g2 | [ g77i% : 100
IMPORTANT

Read carefully the Tnstruction for Answering’ given on the
Answer Sheet and answer the questions as directed @
FTCYA 9T [T 7w GO offkd we7 @ R smRer ey &

1. Which of the following is not a general property of gases ?

(1) ~ high fluidity (2) high compressibility -
(3) large volume (4} high density
Mg & & @ Belt ar wmre o q@ R 2
(1) fres aerar (2) ot ddigzer
(8) aTftres srrgas (4) eH gevea
2. Which of the following pairs will not show diffusion ?
(1) Chlorine and Oxygen (2) Chlorine and Bromine
(3) Water and Oxygen (4) Salt and Sand
=7 # & - g RERe (diffusion) 987 s ?
(1) F=HF AT sifrdior (2) =T ol Sy
(3) ST T iR (4) 9% s ¥

(3) P.T.O.
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3, Al what temperature the thermometer readings in °C and °F are
the same ?

PR AT 9% °C @t °F QA7 At UT §HE G R 7
(1) -40 (2) 273 31 O (4) 100

4. A gas can be liquified by :
(1) increasing temperatute and decreasing pressure
(2) decreasing temperature and increasing pressure
(3) increasing both, temperature and pressure
(4) decreasing both, temperature and pressure |
o T F7 &g § yNafde fhar o Ewdar ¥ o
(1) o9 ST a7 & H gems
(2) @19 TRy TUT A I TGTHT
(3) @9 Y @ AT bl TG
(4) T MY IE AT Bl HSTHT

5. Which of the following undergoes sublimation ?

(1) Camphor (2) Seodium Chloride
(3] Chalk 4) Sugar

e B @ R AT B H B 7

(1) P (2) T

(3) e (@i (4) =

6. Which of the following is a non-metal ?
(1) Lead (2) Cadmium (3) Silicon (4) Calcium

e G @ oteng A € 7

g e () REE@ REET 6 L
(4)
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7. An emulsion is a colloidal solution formed by mixing of :
(1) two miscible liquids
{2) two immiscible liquids
(3) a soluble solid and a liquid
(4) an insoluble solid and a liquid-
T UF BHloaed e @ ¥ o B 53 av g @
(1) 31 faqgshe = |
2) & sRmasha =g
(3) Tk goAsta ot A% vE &
(4) UF AT S oM U B9

8. Which of the following is a mixture ?

(1) Vinegar (2) Ice

(3) Copper Sulphate (4) Carbon
e 3-8 @ fysor &7

(1) R | (2) %

(3) gl (o wede) (4) aprel=

9. Which of the following has a liquid dispersed phase and a gaseous
dispersion medium ?

(1) cloud (2) gel
(3) smoke (4) soap bubble

(5) P.T.0.
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et 9 fbad sa fafefva (dispersed) orawem ® @l T TES
i e i i B ;

(1) =T (2) I

(3) g 4) EgT gEgen

10. How many times an atom of sulphur is heavier than an atom of
carbon ?

(1) twice the Avogadaro number (2) 8/3
(3) 3/8 (4) None of these

memm%@mﬁﬁﬁﬁwmﬁ%?

(1) Qanrm=r e AT 2 8/3
@3] 378 (4) 3AH & Hrx ol
11. The number of moles in 60 g of carbon.is :
(1) 4 (2) 5
(3) 4 x Avogadro number (4) 5 x Avogadro number
60 I HE W A P dEAr anl o
(1) 4 2) 5
(3) 4 x wAnET HEEr (4) 5 x TAFTIET HeAl
12. The reaction CH, = CHqy + Hy = CHy - CH3 is an example of :
(1) oxidation (2) dehydration
(3) addition (4) substitution

CH2=CH2+H2—>CH3—CH3GWGW%1
(1) SRR 2) Frete=
(3)  EGIT /HepeTT (4)  SferEeTa
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13. A white precipitate is obtained by adding common salt solution

14.

15..

16.

17.

into a solution of :

GH 99 & [Fags # fFa AggT & svm W % oasy are
Bar g 7

(1} AgNO; (2] KNO, (3) NH4NO; (4) Ba(NO,),

The aéid present in the stomach of a healthy person is :
(1) acetic acid (2) oxalic acid
(3) | hydrochloric acid (4) nitric acid
wimaﬁa%mmmﬁwﬁaaw%:
(1) THlies s | (2) AR 9w
BTRRIRAI® ST @) TR e
On heating a hydrated salt to a temperature of 100°C Plaster of

Paris is obtained. The salt is :

U STgHT FEOT A 100°C agEE 9T T s T wReY 3ifE
URE ure € ¥ 1 g @aor B

(1) CaS04.2H,0 d (2) CaS03.2H,0
An acidic oxide is formed by the element :

M S 99 el O 2o
(1} H 2) K 3) Ca 4) C

Which of the following electromc configuration corresponds to that
of a metal ?

A AW i R arg B Rem S omey R 2

1) 2,6 @) 2,8 (3) 2,8, 1 @) 2,8,7

(7) P T,
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18.

19.

20.

21.

Which of the f(ollowing molecules possesses both single and
double bonds ?

(1} nitrogen (2) ethene (3) oxvgen (4] ethyne
e oA F oy § usd o g e s § 7
(1) =gass (2) wd= (3) HFERAeE (4) guEH

During galvanization iron is coated with another metal. The other
metal is .

oA & JRI9 W @1 gEY UWh g § oTesiad [ S
®, 9T 39 Ul 2
(1) Cu (2) Cr (3) Sn 4) Zn

The pair of clements both of which exhibit the property of
catenation :

{1) carbon and calcium
(2) carbon and silicon
(3) silicon and magnesium

(4) silicon and chloride

ey % & B o g % A o S <@ ¥
(1) e 3 Efedan

(2) @rEe TR fafera

(3) fufaeia efiw Ae=hifemas

(4) Fafepr ol wAIES

The volume of a gas at 0°C is:
0°C TP U bEl I T ST BI €
(1) <0 2) =0 (3) >0 (4) 20

(8)
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In laboratory, accidently a few drops of concentrated acid gets

spill over the hand of a student. What should be done ?
(1} Neutralize the acid with strong alkali
(2) Wash the hand with saline solution

(3) After washing the hand with plenty mf water apply solution of
- sodium hydroxide on it

(4} Wash the hand immediately with plenty of water and apply a
paste of sodium hydrogen carbonate

SN § B G g e ond A 55 9% o Pan @ wm

wi@wﬁé,aﬁaﬂwqﬁmﬁ%%ﬂwmaﬁq?

(1) evs &t |z &M% @/ I FeEr =y

(2) & W TS e @ e R

(3) & F IgT wEm e § A9 B aw afegw TEcrEEs @
SIS B S S wi |

(4) mﬁ@aﬁ-ﬁﬁﬁmﬁ%mﬁ%ﬂnmmﬁ
T U T TRy

The electronic configuration of A is 2, 8, 2 and that of B is 2, 8, 7.
The formula for the compound formed between A and B will be :

WAWBW@W%WW&I:Q,S,Q@T&B,?%I
A AR B& Afms =1 g anr

(1) A,B, (2) AB, @) 4B, (4 AB
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24,

25.

26.

27.

28.

29,

Correct order of reactivity of metal Zn, Cu, Fe & Agis :

Zn, Cu, Fe 3T Ag egeti &t Grensfierdn @1 @€t &7 2

(1) Fe» Zn> Ag> Cu (2) Cu> Ag> Zn > Fe

(3) Zn>Ag> Fe> Cu (4) Zn> Fe> Cu> Ag

A gas decolourizes alkaline KMnO, solution but does not give
precipitate with AgNOg 1s

gz g oY arfla KMnO, fawEa @ TEm s & @ AgNO, ®
ary aay qel awrer 2o

(1) CH,4 (2) CyHy (3) CoHp (4) CoHpg

The original inhabitants of a country are called :
(1) residents (2) natives

{3) aborigines (4) ancestors

Which of the following is a reflexive pronoun ?
(1) Himself (2) His
(3) Hers : (4) Theirs

What is the plural of the word OASIS ?
(1) Oases (2) Oasises

(3) Oisis (4) Oaesis

Choose the correct preposition for the blank :

T have been studying in this school ............... the last five years'.
(1) since (2) at
(3) in (4) for

(10)
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31.

32.

33.

34.

35.
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The correct one is :

(1) Bring the book me that is lying on the table.
(2) Bring the book that lying on the table to me.
(3) Bring to me the hook that is lying on the table.
(4) Bring me the book that is lying on the table.

Neither of them .............. come.
(1) have (2) were
(3) was (4) has

Which one is correct ?
(1) Pneumonia (2) Pnemonia

(3} Pnehmonia (4) Neumoniah

Which is the correct answer to fill in the blank ?

'The principal ........... our requests'.
(1) Turned down (2) Turned on
(3} Turned at (4) Turned off

A place for housing aeroplane is called -
(1) Haven _ (2) Hangar
(3) Harbors (4) Heath

"Ten thousands saw | at a glance, Tossing their heads in sprightly
dance". These poetic lines are from Wwhich of the following poems ?

(1)_ The Tables Turned (2) Lyrical Ballad

(3) The Daffodils (4) Perfect Life

(11) | P T.0.
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36.

37.

38.

39,

40,

41.

42

43.

‘Fays H g ®
(1) e @) fag
(3) Togey (4) FHIE
Teedl Ba wepit @1 g B 7

(1) amm (2) agHa
(3) ey (4) fasft
@y faeedt o B |
(1]  FTEATOT (2) faer
(3) STIEIRT (4) STEERET

FA-HT T AYE © ¢

(1) o @t F geeprd Sl @ werEr &)

(2) =@ faawene AW @ et |

(3) 3@ Renem 7 &= a@ faemi #1

(4) R H o¥% fEAEET €|

G T Y, B G B A HABE T

(1) 29 (2) =¥HH (3) SIET

aref’ fepeaep yatgEarE ® ¢

(1) yda (2) e (3) o

&y @ gHE TEF B

(1) afen (2) AT @

st e TH a0 AR T

(1) (2) SO (3) SEAT
(12)

(4) T
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‘et g’ frE Wiy # wEAr R O?

(1) ghsmes gg (2) e

(3) SRR HEE (4) HeRdr Fu
0B S AT qEEy e wE o

(1) <9mEst J9F=T (2} Gt 59w

(3) IS HE (4) Eﬁﬂ‘aﬁﬁ'm

Karang, which has become India's first cashless island is located
in which state ?

(1) Gujarat (2) Manipur (3) Kerala (4) Mizoram
T, SN A H1 Ul Bewie A7 T T, 5 709 F Ryg &7
(1) g (2) =Py (B8) (4) Frem
Who is the present Governor of Arunachal Pradesh ?

(1) Banwarilal Purchit . (2) Vishwanath Shetty

(3) P. B. Acharya (4) Krishan Kant Paul
STHINEET HGST &1 qaT Y99 Hi 2 ?

(1) sFardee gifed (2) Fage=rer Sigdt

(3) dio dle Far (4) FIT & dfE

The Rajiv Gandhi National Aviation University (RGNAU) is located
in which state ?

(1) Andhra Pradesh (2) Telangana

(3) Uttar Pradesh (4) Madhya Pradesh
IO e Ui Igegw Reafaenay B aog § Reg & 7
(1) oTer wsr (2) dsrET

(3) IWR u=w (4) #=g TRl

(13) | P.T.0O.
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49.

50.

a1.

52.

Mohit Ahlawat is associated with which Sports ?

(1) Chess (2) Cricket
(3) Boxing (4) Badminton
Mfsq oAearEd H S § watud 8 7

(1) e (2) Brwe

(3) iferdsT (4) asfifes

When and where the first Metro train started in India ?

(1) Mumbai in 1864 (2) Kolkata in 1984
(3) Rajasthan in 1870 (4} Assam in 1999
T # geell N8 39 Fw Ty el YE g A1 7

(1) T 1864 (2) ehieTemn H 1984
(3) ivfeer= #1870 (4) T T 1999

Largest number that divides 245 and 1029, leaving remainder S in
each case is :

TR gd dwa TR 245 o7 1029 @ fBsfvd &7 9T U
Feorfey # Qg 599, a8 ¥

(1) 15 (2) 16 (3) 9 4y 5

If 3 is the least prime factor of a positive number a and 7 1s the

least prime factor of a positive number b, then the lcast prime
factorof a + bis:

g s HE o $ AW AT O 3 B N TR e
b 7 YATH AU O 7 F, TS ad bF LATH STH TF T
(1) 2 2 3 3) 5 (4) 10

(14)
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If x + 2 is a factor of x2 +ax -~ 2b and a + b= 4, then ;
aﬁx2+ax+2biﬁfﬂ'uﬁﬁx+2%aﬁa+b=4,ﬁa:

(1) a=-1,b=5 (2) a=5,b=-1

(3} = 1, Be 3 ' @4 a=3,b=1

If3, -1, —é are zeroes of a cubic polynomial p(x), then p(x) =
uf&%raﬁaagqa%wﬁsB,----l,—é%,ﬁﬁp(XF

(1) 8x®-5x%+11x-3 (2) 3x%-5x%-11x+3
(3) 3x3-5x2-11x-3 (4) 3x% +5x%-11x-3

[fa+b=>5and 3a+2b =20, then value of @ + b is
AT a+b=53M3a+2b=20%, Sl a+bH A7
(1) 10 2) 15 (3) 20 (4) 25

Solution of the pair of equations =yl fg -

= N - :1 Wlll
A x-1 y-2 X-1 y-2

5 1 6 3
I BN —— v ——=2, O __° _| a5 & B
- x-1 y-2 xr-1 y-2 Y
(

1 @-5 @ (54 @ @5 @ 4

The graphs of the equation 5x - 15y = 8 and 3x - Qy = % are two
lines which are

(1) coincident
(2) parallel

(3) intersecting exactly at one point

(4). perpendicular to each other

vi9) P.T.O.
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58.

59.

60.

61.

RO Sx 15y = & $Iv 3x —-9_1;:%? F WE A AW S

............. 3 .
(2) TAATA

(3) @adt uF fag I¥ ST AE

(4) T R F aEay

In an isosceles AABC, if AB = BC and AB? =2AC?, then £C =
Uk THTETE AABCH, af& AB =BC &t AB® =2AC*, 9 £C =
(1) 30° (2) 45° (3) 60° ° (1) 90°

In a triangle, the perpendicular from the vertex to the base bisects
the base, then the triangle is :

(1) right angled (2) isosceles

(3) scalene (4) obtusec angled

us Frgs H, ofid | R 9 e B fEtse wver &, ad

(1) T - (2) wAfEg
(3) FaoTarg - (4) Ifes hioT

In a rhombus of side 10 cm, one of the diagonals is 12 cm long.
The length of the second diagonal is :

(1) & cm (2) 12 cm (3) 16 cm (4) 22 cm

10 &t war endl weagds J o fawer Hl arErE 12 #Hl B IR
(1) 8 Tl (2) 12 @ (3) 16 @ (4) 22 THI

cot0 tan @ ;
el — s
T walize 81 cot —cot30 tan () — lan 30
cotl . tany = AE D
col0-cot30  tan0-tan 30
(]] 0 (2) 1 (3) 1 (4) 2

(18)
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63.

64.

635.

66.
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I{7c0320-351’n28:4, then the value of cot 0 1s :
yf& 7cos? 0+ 3sin?0 =4, dd cot f & 7 ¥

(1) o 2) 3 (3) 1 (4) ©

The perimeter of a rectangle is 82 m and its area is 400 m? The
breadth of the rectangle is :

(1) 9m 2) 16m (3) 20m 4) 25m
U I T gAY 82 WY B oMt fmrhe 400 I i B smAd @
CIEE

(1) 9t 2) 16 #H (3} 20 #i (4) 25 @

The sum of n terms of the A. P. V2, V8, V18, V32, ... is ;
UF TR F990 42, V8, 18, 432, ... & n URI &I a1 & -

(1) ‘J%n(nﬁl) 2) V2nm+1
(3) 71§~(n+1](n +2) (4) «ﬁ[n+1)[n+2) )

If a point P divides the two points A(S, -2) and B(9, 6) in the ratio
3 : 1, then coordinates of P are :

9% o farg Pt Riegell A5, -2) U B, 6) #1 3¢ 1 & T &
T T B, 799 A Pe s ¥

(1) (4, 7) (2) 4,8 3) (12, 8) (4) (8, 4)

If two vertices of AABC are A(-1, 4) and B(5, 2) and its centroid is
G(0, -3), then the coordinates of C are :

AT AABCH 1 o A(-1, 4) afiT B(5, 2) SN g9 F==mh GO, -3) B,
d9 C % FRaip §

(1) 4, 15) (2) (4,-15) (3) (15, 4) (4) 15, -4)

(17) P.T.0.
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67.

68.

69.

In the given fig: AD is the biscctor of ZBAC. If AB = 10 cm,
AC =6 cm and BC = 12 c¢m, then the value of DC is :
U T e §, AD @9 BAC @ @ufzumies €, 4@ AB = 10 &,

AC=69491 AR BC= 12 841 &, 1 DC &1 919 & -

A
10 cm 6I cm
B D C
«— 12 cm -
(1) 4.5cm {2) 5.5cm
(3) 4 cm {(4) Scm

An aeroplane at an altitude of 200 m observes the angle of
depression of opposite points on the two banks of a river to be 45°

and 60°, The width of the river is .

. 5
1 200(14-— m 2 200[1~— m
“ ) % ‘\.1/?_);,; [ ] \/5/
(3) 200(1+v3)m @) 200{-v3)m

200 H & Sard  uX zas Ses @ 9E & & Peard ux R
Ryegall 1 eraa=T o7 HHL: 45° % 60° B | Wl ) ATE 2

o L "
(1) 200|\1T_\—/§)nh @) 20 |\1 =
(3) 200(1++3) T | 4) 200(1-+v3) 7

In decreasing the radius of a circle by 30%, its area is decreased by :
@gﬁeﬁ%{waﬁr%%zﬁuwﬁwméﬁwwﬁam%:
(1) 30% 2) 49% (3) 51% 4) 60%

(18)
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The number of solid spheres each of diameter 6 ¢m that can be

made by melting a solid metal eylinder of height 45 cm and diameter
4 cmis:

45 Fh S oM 4 N A B wH Ay B A W g A
F e 6 8 =W $ S N §99 X SS9 6y 2
(1) 3 2) S (3) 6 4 9

If mode of a series exceeds its mean by 12, then mode exceeds the
median by ...... S .

qﬁ%ﬁma@msﬂ%m&rﬁmaﬁzﬁé,aawsﬂ%
IO H eeeennnnnnnnn, it B |

(1) 2 () 4 (3) 6 (4) 8

A student calculates that the probability of his winning the first
prize in a lottery is 0.08. If 6000 tickets are sold, how many
tickets has he bought ?

%%mew%ﬁﬁ@ﬁhﬂﬁmw_wéﬁﬁ
H AT 0.08 B 1 af 6000 fea?d A R ot s Read Rwd
G ?

(1) 120 2) 240 (3) 480 .  (4) 760

The cumulative frequency table is useful in determining
the ......... :

(1) mean (2) median

(3) mode ' (4) all of these

gl qrEERer qreeft ... fPreprett F Suarl el B
(1) W (2) =T

(3) Tg (@) R Ed

(19) BT O
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74.

795.

76.

Y i g8

If cos (o + f) = 0, then sin (o - B) =
& cos (@~ B) = 0, TF sin (a - P) =
(1} cos 2P (2) cosp (3) sin 2a (4) sin o

) 4 .
A fraction becomes 5 when 1 is added to each of the numerator
and denominator. However, if we subtract S from each then it

1 .
becomes 5 the fraction i1s :

T ST F o SN BT ol W 1 SiEA Wﬂ%%ﬂ?m%,ﬂaﬁﬁ

5§ 9Y g8 %ﬁw%ﬁaﬂvﬁﬁ?

@ 3 G L @ =

1 =5
) 9 16

8
Which one of the following quahtity remains unchanged in parallel
combination ?

(1) Voltage ~(2) Current

(3} Resistance (4) None of these

Ppefarfege wfor & Sa-a Wi uf@ddt $ oY &e J S 9y

1) TaHa=x (2) &m

(3) Ay (4) sTH & Fg TE
Inside water, an air bubble behaves like :

(1) Flat glass plate (2) Concave lens
(3) Convex lens (4) Plane mirror

gt & oFEY HIE BaT & gogdl [RE Y HAGe gl ¥ 7
(1) e &E ®E (2) oTEad 9
(3) IO A (4) @ e age

(20)
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Light enters from water into glass plate, the refractive index of

glass is % with respect to water and speed of light in vacuum and

glass are 3x10°m/s and 2x10%m/s respectively. The refractive

index of water with respect to air is :

YT, U1 " B H e T AT wEGT B, TR H AUE PrE

wﬁﬁm%%,wwmaﬁamﬁaﬁ@zﬁaﬁmﬂ:

3x1087 /8 qur 2x10% M/ B ot @ oryedwin ag & @O
2

3
(1) 5 (2) (3)

SUES

(4)

W p
O e

The power of combination of a convex lens and concave lens of the
same focal length is :

(1) Zero Dioptre

(2) Infinite

(3) Inverse of focal length of convex lens

(4) Inverse of focal length of concave lens

TN BE g0 B Sue uF ofede dw B wgel e ?
(1) g3 e

2) s

(3) Iver | P wiww gl EET-%TPFFI

(4) g o9 B HHE g B Fopd

(21) P.T.0.
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80.

81.

82.

a83.

Neutron particle is heavier than which one of the following
particle ?

(1} Proton {2) Electron (3) Nucleus (4) Positron
I & Trefeiea 9 T o § 9l gkr 8 7
SR () WEE (@) A () o

An object is placed at the cenire of curvature of a concave mirror.
The distance between its image and the pole is :

(1) equal to f . (2) between fand 2f
(3) equal to 2f (4) greater than 2f

U g%, UH oFFae /U B amal dew U¥ TEl Wdl 81 39w
i ud ga & g W gl B o

(1) f & =y (2) fud 2f & &=
(3) 2f & aEY 4) 2f | s

Which color of light is used in the headlight of a car in a foggy
day ? :

(1) Blue (2) Yellow (3) Black (4) Red

g9 & gramEer § R & ssdge # B9 T Ow 9AN Bar S
g Y

(1) e (2) dre (3) hreT (1) @A

The least distance of distinct vision for a young adult with normal
vision is about :

(1] 25:m (2) 2.5cm (3) 25 cm (4) 2.5m

-

(1) 254 (2) 2.59H (3) 25 FH (4) 2.5

(22)
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84. The work done in moving a charge of 2 coulomb in a potential

85.

86.

difference of 12 volts region is :
1
(1) 6 Joule (2) 24 Joule (3) 48 Joule (4) P Joule

12%%&(%%5132@@3%6@%@%@%?%@%
& B

(1) 6 (2 245 (3 485w  (4) - o

O | —

Current through a resistor is :

(1) Inversely proportional to its resistance
(2) Directly proportional to resistance
(3) Indgpendent of its resistance

(4) Directly proportional to the square of the resistance

Qe Ay | BT o Al gy At ¥

The resistance of a wire of a given material of length [ and area of
cross-section A is 4 ohm. If length of the wire is /2 and area of
cross-section 24 for the same material, then the resistance will be -

(1) 40 2 20 (3) 10 (4) %Q

P T, 0
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87.

88.

89.

K@EU?TQ%ZW@HWAWHW@H%%WWWH4
A B ouft S gure B AR A wrd /2 e SRy OiesT 24
??T,Eﬁﬂﬁ’i’?fﬂfﬁ”ﬂ:

(1) 4 =" (2) 2 3 @) 1 a0 (4) éaﬁn

Which of the following terms does not represent electrical power in
a circuit ?

frey 7 & B, Bl ga uftwy A dga ik il frefoa #war €7

(1) I°R 2) IR? 3) V.1 ) i
R

At the time of short circuit, the current in the circuit :

(1) reduces sustantially ~ (2) does not change

(3) increases heavily (4) varies continuously

9 offe & wo, gfidy d O

(1) e g2 S 8 (2) afRaffa =8t erx &

(3) orfie e o B (4) TR Saerd w8

Voltmeter has high resistance so that :
(1) It takes large current from the circuit
(2) It takes a negligible current from the cireuit

(3) Itcan be connected in series

(4) None of these
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dicedet § Jeg iy @ diar B R
(1) =& aiRyy 9 A& gy dar @

(2) q%:taﬁcrerﬁg%@umém%

3) g& Fofiepy & SirsT oM Tehell B

(4) 9 | ®E 7

A person with hypermetropia :

(1) can see distant objects clearly but cannot see nearby objects
distinctly

(2) can see nearby objects clearly but can not see distant objects
distinctly

(3) finds it difficult to see nearby object comfortably and
distinctly '

(4) cannot see nearby objects clearly and distinctly
afgfer & arfer i

(1) 4T b axgell A arb-ars 3@ T ¥ vy ww R aege 7
AT el @ Hebar

(2) Hﬁﬁmaﬁaﬁaﬁaﬁwéﬁrm%wgaﬁa@eﬁﬁ
STT-HTT 81 TG gepar

(3) GrE B ST F AR H T ST F@ T HAE Sy
N .

(4) wzﬁaﬁaﬁzﬁmwww%@m%

25) P.T.0.
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91.

92.

A white light beam entering a glass prism splits into seven colour
due to :

(1) Reflection (2) Dispersion
(3) Diffraction (4} Interference

WEIN & U 97T O Hiw b Bew H oudsr wxd @wg @ o Ao
e avrg A faanfora @) smdt 8 7

(1] T (2) RreT
(3) faerds (4) =Rl

The magnetic field inside a long straight solenocid, carrying a
current

(1) 1s zero

(2) is the same at all points
(3} increase as we move towards its ends

(4] decreases as we move towards its ends

o o @ ST gd W o) aRTfReE B STE, P @

(3) %ﬁaﬂ%ﬁﬁfaﬂaﬁtaﬁ%eﬁm%

(26)
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93. An electron enters a magnetic field at right angles to it as shown

24.

below. The direction of force acting on the electron will be :

[

K . magnetic
/ © ficld
i ol
direction of motion
of electron
(1) to the right (2) out of the page
(3) into the page (4) to the left

@sﬁaﬁhwmﬁa%@mﬁﬁwmﬁﬁwﬁﬁﬁﬁﬁ
fearar =m ¥ | 39 QX PN 9 ST @ 39T BFT

[
[
[,

ELCIDEE

L 4

J
ESETAREC NN
o e
(1) e o ' (2) ST & SET #H AN
(3) U & ST=T W/ Y (4) I TTH |

A body of mass 5 kg undergoes a change in speed from 30 m/s to
40 m/s. The change in its momentum is

(1) Skgm/s (2) 50 gm m/s
(3) S0kgm/s , (4) 50 kg cm/s

5 FpOT s B uw aRg @ i § aReds 30 #i/F | 40 4/F
I § 1t g8 €A F qfteds ¥ - / /

(1) 5FEeEm &/ (2) 507 /Y
(3) 50 Fem +i/| (4) 50 Pem /3§

(27) P.T.0
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95.

96.

97.

If the distance betwcen two objects A and B is halved, the
gravitational force between them :

(1) is halved (2) becomes 4 times

(3) remains unchanged (4) becomes two timcs

A & axgell A dem B @ Al @ g0 sl e & S, o S9
STE [EETENT Fa

(1} e & Sew @ (2) @ T B S @
(3) omfafia =T & @) T B SR 2

A 500 gm packet having volume 300 cm? is placed in water
(density of water = 1lgm/cm3). The packet will :

(1) float in water (2) sink in water

(3) displace 500 gm water (4) displace 500 cm? water -

500 T 1 Uk Obe rEdl drEads 300 T B, 9t W over Sen
2 (arll @ wae = 1 A /ER), e

(1) 9t & a3 (2) a4 g8 ST

(3) 500 = o faeenfie @M (4) 500 FH AW weREN

A force of 10 Newton causes a displacement of 2 m in a body in its
own direction. The work done by the force is :

(1) 5 dJoule (2) 20 Joule

. 1
(3) 2.5Joule (4) ngﬂe

(28)
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10 R+ @1 U oa1 U U &l o1 @l Ren & 2 # fovemgs shean
T a9 U e R R

(1) 5 S (2) 20 &
(3) 2.5 9« 4 - 99

A body of mass 5 kg falls from rest from a height 10 m from
earth's surface. The kinetic energy of the body on the earth's
surface will be (if g = 9.8 m/sec?) :

(1) 490 Joule (2) S0 Joule

(3) Zero (4) 49 Joule

S IHN THEN H wH awg, PvH | g @ wwe @ 10 @ @
FAE G e @ axg R oot gt @ g9 ww e (3R g -
9.8 W/ 8% .

(1) 490 St (2) 50 S
(@) I (4) 49 =

A sound wave has a frequency of 1 KHz and wavelength 0.8 m.
The speed of sound will be :

(1) 80 m/sec (2} 800 m/sec
(3) 8000 m/sec (4). 80 cm/sec

OF @ qXT W emgRT 1 Peeiezet qem @oel 0.8 B @fy
bl owT Enft 2

{1} 80 #i/9 (2) 800 #i/&
(3) 8000 dy/& (4) 80 9H/8

(29) P.T.0.
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100. In which median sound travels fastest '9

(1) Solid (2) Liquid

(3) Gas (4) None of these
e A1emm & egfyy @t g Stfoesdw &l ?

(1) @r | @ =@

(3) g (4) T F P 7
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